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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting er filling twe or more circles will result in zero mark in that question.

The leader of Neo-Ciassical school of thought was : ; QW;K}"_}‘J'/JEJ,{;‘ 1-1
Robbins # (D) Marshal J%L (C) Keynes ;ﬁsf (B) Ricardo 13,8 (A)
The other name of micro-economics is : te bl F&?L"L}LZ 2
Theory of income and empioyment ;fjwsx Tf_, /b’ (B) Price theory ..-,.E, }"' (A)
Applied economics a?bﬂéiﬁf (D) Welfare economics =Ab+Jif (C)
When total utility is maxirmum, then marginal utility is : : g.t‘m:l.i','ﬁ;q_ t‘m;L)‘:..a:_i,JuLilfn__): 3
infinite 227 (D) Zero #* (C) Negative J’ (B) Positive =3 (A)
The shape of indifference curves is . : q.aﬂyu(é }(xb# 4
Horizontal J’ ! (D) Vertical ($2f (C) Concave ** (B) Convex w4 (A)
dx = 7x + 2, equation is : Cewlilrdx = Tx + 2, 5
Function J¥ (D)  Cubic G (C) Quadratic S92 (B) Linear Got (A)
Due to rise in demand, the demand curve shifts to 3 ;ﬁ;b‘x&iﬁiﬁc_.&zﬁ_fib 8
Downwards é (D) Both sides | AU (C) Leftwards [ IL (B) Rightwards ;,f,b (A)
The cross elasticity of substitutes is - : r‘*_@r:_ff 2wed: ?Uﬂlr"’ 7
Infinite 50 (D)  Zero 3 (C)  Negatve & (B)  Posive =2 (A)
The cause of expansion and contraction of supply is : : q.,,mf i ﬁ:lfﬂﬁfﬁyj 8
Price =4 (D) Income JJT (C) Technology G#tE (B) Population (247 {A)
The long-run supply curve is : : e"__t‘y.'yzb'J&/uf:b g9
Zero elastic .af,»g 2 (D) Inelastic ,ug ,qf (C) Mare elastic xi,sg; 243 (B)  Less elastic ;f;.gfr (A)
When supply increases at constant demand, then price : : ‘géx.:‘f?a..tgm:ymr{?%;v 10
Becomes infinite 2.7 (D) Becomes zero * (C) Increases i3k (B) Decreases ff (A)
The reward of capital is called : 2 c:_tlk'iﬁ:b‘{LL/ 11
Profit C'il:-' (D) Interest s» (C) Rent o€ (B) Price d (A)
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Investors in joint stock company are cailed : Ll r)LfL‘J{:/L/VCJ:‘:be? 12
Organization (-b" (D)  Directors ),’:}fi (C}  Sharehoiders s> (B)  Members A (A

The Jaw of decreasing returns applies on : D e bl K{J’lbl_kw :-,fj F(13
Housing {mb’;p (D) Trade g7 (C) Agriculture z=#LJ (B) Industry /=2 (A)

Other name of laws of returns is : : .‘:_.l*L‘f/nELVbqu} 14
Law of increasing returns J“bﬁ%ﬁﬁ' (B)  Law of diminishing marginal utility ﬁ)ﬁldﬁfy’ﬁ (A)
Laws of cost Llefid (D) Law of decreasing returns J’b;}.’.w:;.!ﬁ[i’ (C)

Long run average cost curve is : : .‘:..t‘n,!.iﬁ..é;w&rﬂb’;,z LaF 115

V-shaped Li§s (D) S-shaped i@ (C)  Saucer shaped LA"J?% (B) U-shaped I (A)

Under monopaly , firms are equal to : .‘:..Jmlﬁb(uf)c;é s {16

Four s (D) Three u.: (C) Two 52 (B) One .__J._,/l (A)
When total revenue in monopoly is maximum, then marginal q.Jndr’:f:g;m;j,).:.pg.?dﬂ;,rgﬁd;butgl 17
revenue is ;
Same ULE (D) Negative (& .(C) Zero j# (B) Positive =% (A)
Under perfect competition demand of commodity is : _ : z"_an...flb:fi J&JL‘:’»J’[ 18
More elastic st (B) Less elastic M »
Inelastic Jb.g/{ (D) Perfect elastic ﬁ,sg;); (C)
Responsibility of profit and loss is accepted by : C e SRS e 19
Entrepreneur !/;t (D) Capital b~ (C) Labour =¥ (B) Land o (A)
Quasi-rent belongs to : : :_:.t'xg:'wb’uﬁ.vk’rt 2ﬁ

Long-run c.uf:*'.zj (B) Short-run L-J'Eﬁf (A)
One year LJL-..‘L:! (D) One month c.sL....L_/I (C)
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( Part-[ 3l 4eaa )
16 2. Write short answers to any Eight ( 8 } questions : : éagiljﬁé.:aﬂ’r 8) P J:'/ -2

(i) Write two important fields of sociology. dégﬁﬁ'u}bfl»f.aglj (i)

(i) What is meant by industrial sociology? ‘-'q...Jl/l;'/c.:,L:f/C‘v’y (ii)
{iil} What is meant by pure / basic sociology? ‘-'.T__:!/'\_.;‘/c. =L ASE (i)
{iv) What is meant by physical / natural science? fe :I/k@..u"" {Lr'u‘}!-‘ {iv)

(v) Why saciology is a social science? e u" i 3 ; i;».@f{..-.;glf (V)
(vi} Write the role of sociologist in the field of health. N K L1 2o il a5 (vi)
{vii} Define social interaction. ,é’.éiﬂ,rf@(}/‘bﬂ (vi)

(viil} Describe two main differences between social ..’cf_f:'ull._:g:?}/?inc. J;Lr:f@,%wd‘@&}w {viii)

action and social interaction.

{(ix} Describe two forms of social interaction. _éfi:;_-)yg.‘?b»JJ’[gé;b‘ (ix)

(x) What is meant by primary group? ?{_.:l/lg/c..ufﬁu‘kf (x}
{xi) Write two characteristics of informal group. -’&6 ey ;».Jr‘"i-: L,‘I/a.’fd:r’ﬁf (xi}
{xii) Define local group. -é...yﬁ'_)'/u/ff&'» (xii)

16 3. Write short answers to any Eight ( 8 } questions : ; g@LFX/"?LQUV 8) #7T J:f -3

(i) Whatis achieved status? fe ol ()
(i} Define social role _’fé‘_&'/‘f"diwj(-ﬁ.r (i5)
(ili) Write two results of role conflict. -c".’g f;C'»é: _— Kl':l.-:' iii)
(iv) Define laws. E y PSS ()
(v) Write the importance of mores. _&(;.;*Elu'/..,..!:?'_i;,” (v}
(vi) Define social sanctions. -ébél }J_x I.g“ij‘3 - (vi)

(vii) Give examples of informal social sanctions. _25_'.-\,&@@{.:-.!,3" o (vii)
(viii) Write two functions of social values. -é‘j’g{;._&fu;wé:ﬂjl&k’ {viii)
{iX)Explain value confiict. ié m&;&ﬁpﬁ (ix}
{x) Define society. - ggbﬂ?} JB; b (%)
(xi) Write any two elements of saciety. _ég,i-’u»béféc.}w (xi)
(xii} write two features of traditional society. _af‘;}f._myf%)&}w Cﬁu {xii)
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18 4. Write short answers to any Nine { 9 } guestions : : g...-. Llﬁ/‘?ﬁcaﬂir (9) 7 < Jf - 4
(i) Define acculturation. -é—'.'.‘/“;d/d_/»;ﬂ'-’@ i)
(ii) Define invention. L N i
(iii) Write two demerits of ethnocentrism. &t e (i)
(iv) Define religious institution. «:—f_:-.é_"/""u(u-‘ﬂ(jfj {iv)
(v) Define matrilocal family. -é...g'_{}'?u(g;'-‘jlé' -u. v)
(vi) Define econamic institution. -’:{..,é_)ﬁ;{yb!fbﬂ (vi)
(vil) Define informal education. _zf.g;?&:"g&j (vii)
(viii) Write two name of political institutions, -égfrté/_uubldku {viii)
(ix) Define social class. EwFlesalite (%)
(x) Write two features of caste. -.’-_’jf;fayr"-udl.mfj (x)
(xi) Define geographical mobility. -Z-f_’-: _@f;(d{a};w&) (xi)
(xii} write two social changes in Pakistani society. uefw!yugg&}b‘;;u:,}b:db@ {xii)
{xiii) Write two hurdles in social change. _égﬁgsﬁs:udif(};b' {xiii)
( Part-II PYSEVPEN )
Note ! Attempt any THREE of the following questions. - al_.li:é:gfu.i/‘c_yf@!ﬂrdjb» T
10 5. Sociclogy is a science. Explain with arguments. _é'..:vl.'r:,-/:._ J'JZJ; _“Lu""’i/\.gaylf‘
10 6. Define status. Also explain its different types. _é:ﬁlésu(rlﬁ!_.i@g{wﬁ ‘_é..éj"u(h_w:'
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10 7. Explain the steps to atiain social control.

10 8. Write difference between modern and traditional societies. _z—:’uw)utw;b»cﬁmr,w
= T T
10 9. Describe cultural change. Also write its factors. _é.(fJfféu’l;:‘ _5: i J:J,F'rj’i'
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